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1|Pohotelice A 1 1 3 5
2[Ublo 2 2 2 6
3|Lipova A 9 7 5 21
4|Rymice 5 10 7 22
5[Horni Lhota B 7 7 9 23
6{Provodov 19 3 1 23
7|Lhotka 3 13 8 24
8|Horni Lhota A 12 6 25
9|Napajedla 4 18 4 26
10|Pohorelice B 6 5 15 26
12|Nova Dédina A 12 11 11 34
11|Oldfichovice 21 6 10 37
13|Bélov 20 4 18 42
14|Zlin - Prstné 13 14 18 45
15|Velké Karlovice 15 16 14 45
16(Lubna 14 21 12 47
17|Nova Dédina B 10 21 18 49
18|Staré Mésto A 22 9 18 49
19|Pocenice A 11 21 18 50
20(Staré Zubfi 17 17 16 50
21|Vitonice 16 21 18 55
22(Karolin 18 21 18 57
23|Staré Mésto B 28 15 18 61
24(Pohorelice C 23 21 18 62
25|Zlutava 28 21 13 62
26(Kyselovice 24 21 18 63
27|Vrbka 25 21 18 64




28|Pocenice B 26 21 18 65
29(Zubfi 28 19 18 65
30(HolesSov 27 21 18 66
31(Strani 28 20 18 66
32|Lipova B 28 21 17 66




